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(B N)
=k = A = A a5t
dtigE 5 4 3 3
EHR 6 2 2 2
BFR 7 5 1 1
=1 7 4 1 1
MEE 5 2 1 1
IRz R 5 3 1 0
BEER 11 8 5 5
TR 21 12 3 1
AR 14 6 4 3
HER 33 18 9 7
BER 14 6 5 3
FER 7 4 2 1
R 17 11 8 5
EcEILNS 7 3 3 1
HRE 55 23 5 3
=R 56 37 18 17
aNE 33 21 16 11
BHE 18 11 5 5
WWHE 30 17 9 4
RHR 356 260 137 125
g 167 123 65 60
BRI 59 42 25 24
i 78 55 27 23
s 52 40 20 18
it B2 IR 28 16 13 11
FRE R 65 40 19 16
EHE 56 35 22 17
=ER 14 8 7 7
HEE 4 2 2 2
RERRT 8 6 3 2
KBRFF 3 0 0 0
EER 5 3 1 0
=BRE - - - -
IR 1 1 0
BHRE 1 1 1 1
BEE - - - -
] LR 3 1 0 0
LER 2 0 0 0
ol 1 0 0 0
BER 3 0 0 0
FNE 4 1 0 0
EER 4 1 0 0
=R - - - -
e - - - -
EER - - - -
RIBR 2 1 1
REAR - - - -
KR 1 0 0 0
BIRR 1 0 0 0
ERER 2 1 1 1
HRR 3 3 2 2
BERE 5 3 0 0
B EDH 13 13 7 5
£EF 936 593 7 264




